
KXAMINATION PAfBltS. US

O An acent sold flour on a commission at •• per cent

and inve^tS the n.t proceds a, s,lk on comm,ss,on at

4 per cent H,s Jvl,ole
con.rnss,on was ^ - A, -d

tJ'andlfmn'X-or^Ird;^' 's,,. i.ot,„uP ^0 ;

3 What is the difference betvveen the true and bank

discount on $63r, for lyr. at 6 per nent. $2.4/^^-^ ^^

A r t;...P« the sauare of a certain number is greater

,1 re';r:s itrs7- ..>. .•2r.O; And the number.

^

Vhow manv cuDic feet of timber in a log Uft. long

and 2,1 in diameter. ( i
)iameterx3^=c.rcu,r.ference) ?

44 cub. ft.—Ans.

R V -,eltl in the form of a right-angled triangle has

J sides SOnJds l-.ng : find the length of the other s,de.

-1-2. 42 4- feet- Ans.

Fifili Class 8.

1 .\ ranadian cent is placed on a penny so that their

• ^ '^ Z^ rhe Denny is llins. in diameter ;
find

centres comcule. i n^ pcimy '- 3 /,iw'^i— ^^

?he area of the uncovered part of the penny (dxa^-c).

iigq ins.— -^ns

''2 A refiner has 20 ounces of -old 21 carats fine and

u . .ith iuounces20 camis fine; how much pure

".tir; be add^St^ make the mixture 22carats fine?

I'iOounces— Ans.
.

^ X .omuanv took a r.sk at 2 per cent and re-msured

H cTf it in another company at 2| per cent 1 ^^ P' emium

r. ei ed by the company was $8 more than that paid

on how much more was a premium received than paid?

$1600— Ans.


